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Question Booklet Series Code: A
Full Mark: 100

Question Book Serial No. MAT0001417 DRS-2015
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Read the following instructions carefully before vou begin to answer the questions. This Booklet contains
100 questions with multiple choice answers both in English and Odia language. In case of discrepancy in
meaning, the English version will prevail.
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. This Booklet contains in all 100 questions with multiple choice

ANSWETS,

. All questions are compulsory and carry equal mark.
. Before answering any question, checkup this Booklet and ensure

that it contains 20 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

. The Invigilator shall supply you the bank OMR Answer Sheet

separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must write
the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

. A machine will read the coded information furnished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which your

Answer Sheet will not be evaluated and Zero mark will be
awarded.

. Answer must be given by completely blackening one of the four

circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.
Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action.
Read carefully the instructions of answering each question before
answering it.
Answer the questions as quickly and carefully as you can. Some
questions may be easy and others difficult. Don’t spend too much
time on any question.
No Rough work has to be done on the OMR Answer Sheet. Space
for rough work has been provided below the questions wherever
needed.
You must not carry into the examination hall/ room any book,
mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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~ ARITHMETIC
1. By what greatest number will 2249, 8227 and 756 be divided to leave reminders of 8, 10 & 9
respectively?
(A) 77 (B) 747 (C) 889 (D) 898

694 Q2O TG IR 2249, 8227 B 756 Q NTIER AGEHV AAFEE 8, 10 6 9 02 ?
(A) 77 (B) 747 (C) 889 (D) 898

2. When all the students of school are made to stand in lines to form a square, less than 10 students are left
surplus. If the students of the school are 1230, how many students will stand on each line?

(A) 32 @€l (B) 34 @4l (C) 354 (D) 36 @4

4R AMIROA BIFAING AIIRIR CARER 2IE IS @& 021 AR 10 @ @ 816 AFAGERT YR FIGA Y
1230 Q€1 626 RUGER 6260 R4 818 81 626R?
(A) 32@4 (B) 34 @4 (C) 3594 (D) 36 @6l

3. The depth of a water tank of cube size of equal sides is 200 c.m. If 1000 Itr of water is drawn-out of the
tank daily, in how many days all the water of the tank be finished?

(A) 4 Qe (B) 6 @@ (€) 7 G¢ (D) 8 @@

661N ACARINIR QIS TITQ ARIQS! 200 62,71 | YYRETAR 1000 REQ A QIREIER, 6R6E
FR6Q QISR 649 6RIRDR |
(A) 4 Q¢ (B) 6 @@ (C©) 70 (D) 8 @@
4.In a division the devisor is 4 times the quotient and 3 times reminder. If the reminder is 4, what is the

dividend?
(A) 16 (B) 19 (C) 40 (D) 48

IR AGFAIER VSR, NAITRA 4 g6l IQ° ANCATR 3 G6l 26T | QA3 QUSCHT 4 P9, 6069 NIGY 6QEQ ?
(A) 16 (B) 19 (C) 40 (D) 48

5. The age of fatherand son together was 45, Syears back. What will be their combined age after 5 years?
(A) 65 (B) 60 (©)55 (D) 50

508 64 QA 6 QIR 20 A8 45 e gl 1 5 9F G6Q CATINER FAAR ANT 669 6297
(A)65 (B) 60 (C) 55 (D) 50

6. What smallest number has to be deducted from 1294 to leave a reminder of 6 in each case when divided
by 9, 11.& 137
(A1 (B)2 (O3 (D)4

1294 Q@ 3= YO Y FEAUS @G 9, 11, 13 FIRI VUTRER FESU@ 6ASER RUTESA 6 QEQ?
(A) 1 (B)2 (©)3 (D) 4

7. What smallest number shall be added to 11158 to make the addition divisible by 77?
(A)9 (B)8 ©7 (D)5

11158 66 694 YGOF1 A°HY 6ATRER CAITR 77 FIA IRV 627
(A)9 (B) 8 (©)7 (D)5



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

MAIUUU141/ / A/ Page 4 of ZI

ARITHMETIC
8. What is the difference between the positional values of 6 in the number 9643627
(A) 59940 (B) 5994400 (C) 5994 (D) None of these

964362 68 '6' @ YIR1A AR FRIER 2BQ 6RES?
(A) 59940 (B) 5994400 (C) 5994 (D) 9AIRE PRIQ 66T Q6L

9. What is the highest of all the 2 digit primary numbers?
(A) 93 (B) 97 (C) 89 (D) 79

QR 2& Q8§ AQOIQ 9F 661IRQ T 6260 ?
(A) 93 (B) 97 (C) 89 (D) 79

10. The addition of 2 numbers is 15 and the addition of their squares is 113. What are the 2 numbers?
(A) 4,11 (B) 5,10 (C)6,9 (D)7,8

Qa% IR CATTR 15 8 6QAIFETR QUQ CATTR 113 | 6O6Q A°HYl G 6667
(A)4,11 (B) 5,10 (C)6,9 (D)7,8

11. What number shall be multiplied by that number to make a product of 412097
(A) 207 (B) 203 (C)209 (D) 213

6Q9 G 63T A°HYl FIRI JEER GEITR 41209 6217
(A) 207 (B) 203 (C) 209 (D) 213
12.The result of subtraction of 2 numbers is 20% of the greater number. If the smaller number is 20, what 1s

the greater number?
(A) 25 (B) 45 (C) 50 (D) 80

326 Q°HIQ FEALTR, RGN 20% 26T | AR A°HYIT 20 626M, 96 AHUIT 626 7
(A) 25 (B) 45 (€) 50 (D) 80

13.15 years back, my age was 3 times the age my son. Now my age is 2 times the age of my son. What is the
total age of both of us?
(A) 60 years (B) 64 vears (C) 72 years (D) 90 years

15 9¢ Q6% 6718 Q9 69192 QOAR 3 g8 ARl | FRCIR 671N QAL 611 G2 VAR FRGE 2SS | 6969
QECIR 2l G FETR 9 58 6267
(A) 6099 (B) 64 @8 (C) 72 ¥ (D) 90 @

14. The product of two numbers is 70 and their addition is 17. What is the difference between the two?
(A)3 (B)4 ©)5 (D)6

Q@G IR GATR 70 B CAINTR 17 | 6969 Y GRTR ABQ TR 6R6L ?
(A)3 (B) 4 ©5 (D)6

15.1f 517*324 is divisible by 3, which of the following small number will replace the star?
(A) O (B) 1 (C)2 (D) None of these

QG 517 * 324 HIT 3 QIR TR 4, 6067 * A AFER FEQIB 629 YO °HYIT @2 ?
(A)0 (B)1 (©)2 (D) ISR FRIQ 6TNEAT Q62
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ARITHMETIC

16. Which of the following number will fill up the gap in the series 4, 16, 36, 64 , 1447
(A) 81 (B) 100 (C) 132 (D) 140

4, 16, 36, 64, -—--—144 AGLAQ Y4 ARER 6QQ A°HY ALL?
(A) 81 (B) 100 (C) 132 (D) 140

17. 3/5™ of a village are farmers and the rest are businessmen. If the number of businessmen is 300, what is
the total population?

(A) 650 (B) 750 (C) 700 (D) 800
661G\ GINQ 3/5 2PEl SN B AREF QURAIRT | AT NQAIE A°FYI 300 249, 6969 FIFIR 621E' CRIQ Q°EYI
6Q60 ?

(A) 650 (B) 750 (C) 700 (D) 800

18. Rahim reared some hen and goats. If the heads of the hens and goats are 90 and their legs are 248, how

many goats did Rahim rear?
(A) 32 (B) 34 (C) 36 (D) 40

QEF @8 990! 6 687 AIFemI 1 AG 687 8 9ge! I8 618 90 B 63lIE T8 248 §4, 6969 QEF 6R60IC 685

amem ?
(A) 32 (B) 34 (©) 36 (D) 40
19.a-b | b-c c-a _
BTt a" !
(4)0 (B) - ©3 (D)
ab , b-c ca_ 9
ab be ca z
(R0 B); ©; (D) ;

20. The H.C F of two numbers is 13. If one number is 91, what is the other number?
(A) 7 (B) 65 (C) 13 (D) 63

QG IR 61.91.9. 13 1 6AITI QI 91 6T6R, ANT AHUIT 6Q6S?
(A) 7 (B) 65 (C) 13 (D) 63

21.What times of H.C.F is the L.C.M of 48, 36, 72 & 24?
(A) 6 (B) 12 (©) 18 (D) 24

48, 36, 72 49° 24 @ R.Q1.9). YAIGS 9.Q1.G. Q 6966 G417
PR 7 (B) 12 (©) 18 (D) 24

22. The H.C F of 2 numbers is 3 and the L.CM is 60. If one number is 12 what is the other number?
(A)5 (B) 15 (€) 18 (D) 36

Qa6 IR 6.91.9, 3, R.QL.Y, 60 1 6TITT Y 12 626R AMT 6Q66?
(A)5 (B) 15 (C) 18 (D) 36
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ARITHMETIC ¥
23.The L.C.M of 25 & 30 is how many times their H.C.F?
(A) 40 (B) 41 (C) 45 (D) None of these

35330 Q. Ql. g, IR 6. 4. §. ® 668 Gl ?
(A) 40 (B) 41 (C) 45 (D) 61635 Q62

24. Find out the LCM of 3 a®b, 4a b* &6 ab.
(A) 12 a? b? (B)12a%b (C) 12 a b? (D) 12ab

3a®b, 4ab? &6 abQ R Al Go 6R6C?
(A) 12 a? b? (B) 12a? b (C)12ab? (D) 12ab

25 The sum of two numbers is 384 and their HCF is 48. What is the difference between the two numbe'rs?
(A) 48 (B) 96 (C) 144 (D) 192

Q@@ QIR CATTR 384 I° LHIFAQ 61.91.G). 48 | 636@ A°HUIFA UCA 2N 6QES?

(A) 48 (B) 96 (C) 144 (D) 192
26. The addition of two numbers is 384 and their H.C.F is 48, What is the ratio between the two numbers?
(A) 3:5 (B) 4:5 y (C)2:3 (D) 1:3
Qef IR CAGTR NI ¥ 6 GQAUY ¥ 626R, A3l TAQ AGAIS 6R6E ?
(A) 3:5 (B) 4:5 (C) 2:3 (D) 1:3
27.The proportion of two numbers is 5:6. If their H.C.F is 4 what is their L.C.M?
(A) 90 (B) 96 (C) 120 (D) 150
GaE AR 29410 5:6 | AT CAANNTR 61,41, 4 §9, 666@ 6AINTA MAI.Y. 6360 ?
(A) 90 (B) 96 (C) 120 (D) 150
28. The H.C F of three numbers is 3 and their L.C.M is 720. If the 1* and 2™ numbers are 15 & 36, what is the
3" number?
(A) 16 (B) 14 (O 12 (D) 10

F60IF @ 6.91.9). 3 8 R.Q1.G. 720 | AT 9N 6 T LU 15 636 FUB, 6669 V14 QYIS 696@ 7
(A) 16 (B) 14 (©) 12 (D) 10

29. The product of two numbers is 216 and their H.C.F is 6. What is their L.C.M?
(A) 36 (B) 48 (C) 60 (D) 120

QR% QYA GEITR 216 9L° 6ACURETR 61.91.G. 6 6L6M, AT N.A1.G. 6R6S?
(A) 36 (B) 48 (C) 60 (D) 120

30. The proportion of two numbers is 3:5 and their L.C.M. is 225. Then find out the smaller number?
(A) 45 (B) 60 (C)75 (D) 90

Q6 IR AGAIS 3: 5 99° CAFIPFA M. Al. g, 225 1 696 AR AT 62637
(A) 45 (B) 60 (C) 75 (D) 90
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ARITHMETIC _
3 H The ratio of two numbers is 5:4. If 40% of the first number is 12, what will be 50% of the second number?
(A) 12 (B) 14 (C) 15 (D) 18
QEF AR 2AGAIG 5:4 1 AT YA LHIR 40% 12 4, 686Q FTEID AR 50% 6R6S 6297
(A) 12 (B) 14 (€) 15 (D) 18
32. The H.C.F of two numbers is 11 and their L.C.M is 7700. If one number is 275, what is the other number?
(A) 279 (B) 283 (C) 308 (D) 318
Q8% LIRS, Q. g 1199° . Q1. g, 7700 1 QT Gy 275 626R, ARY LGS 62667
(A) 279 (B) 283 (C) 308 (D) 318
33.If the proportion of 3 numbers is 3:5:7 and their L.C.M is 4200, what is their H.C.F?
(A) 40 (B) 80 (C) 120 (D) 200
GT6QIT Gy 2QAIe 3: 5: 7 96° 6QCIREA M. 4. §. 4200, 606 CAFNRTR ©l. Q. §. E6E 7
(A) 40 (B) 80 (C)120 (D) 200
34. Find out the LCM of a® + ab & ab — b?.
(A) ab (a +b)(a-b) (B)a(a-b)a-b) (C)b(a+b)a+b) (D) ab (a-b)(a+b)
a’+ ab &ab — b? Q N Ao Go 6RES ?
(A)ab(a+b)@a-b) (B)a(a-b)@a-b) (C)b(a+b)a+b) (D) ab(a-b)@a+b)
35. What is the square of 11117
(A) 1234321 (B) 12321 (C) 1112311 (D) 1232341
1111 @ @61 62667
(A) 1234321 (B) 12321 (C) 1112311 (D) 1232341
36. What smallest number should be added to 6375 to make the sum a complete square number?
(A) 50 (B) 20 (€) 25 (D) 100
6375 6@ 699 Yo7 HI 6T F6R AT 9@ g4 96 A°HYl 6297
(A) 50 (B) 20 (C) 25 (D) 100
37.(0.021)%= ?
(A) 441 (B) 0.0441 (C) 0.0441 (D) 0.000441

(0.021)%= 6960 629 ?
(A) 441 (B) 0.0441 (C) 0.0441 (D) 0.000441

38. What is the square root of 0.053361?7
(A) = 0231 (B) £0.241 (C) £0.249 (D) £0.251

0. 053361 @ @6l (@ 62667
(A)£0231 (B) £0.241 (C)+0.249 (D) +0.251

39. What is smallest complete square root number nearest to 1000?
(A) 29 (B) 30 (C) 31 (D) 32

1000 @ §9691 1&° §9o¢ g QdF|RT 62667
(A)29 (B) 30 (©) 31 (D) 32
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ARITHMETIC
40. The length of a rectangular is 1.5 times its width. If its area is 1350 sq. meter, what is its perimeter?
(A) 120 &. (B) 130 4. (C) 140 &1. (D) 150 &.

QI 210G 6GR 6304 99R 6@ G4 1 ¥RIR EAGTR 1350 . FieR 626R, IZIQ AQAICN 662 ?
(A) 120 4. (B) 130 4. (C) 140 &. (D) 150 &.

41. In exchange of two square size plots of 400 & 441 sq. meter, a man purchased one square size lot.
What will be the expenditure if it is fenced at a rate of Rs.5.00/per meter?

(A) 240 o'l (B) 260 o (C) 280 o= (D) 300 o

———

@66 6RIQ SIIR 400 B 441 Q6 HITRA QA FUINIA BT FARER 6TIT ARG FF Q&R 19YER AU 64
§ie feq g 5 o7 FAER 66T P 629 ?
(A) 240 6K (B) 260 6 (C) 280 o& (D) 300 61

42. If the area of a square size field is 133.6336 sq. meter, what is its perimeter?
(A)48.24 4. (B) 46.42 4. (C) 46.24 4. (D) 46.32 4.

6QIT QUIRIQ OG2IQ 68QTR 133.6336 Q.8. 626M, aGelIa ORI 69697
(A) 48.24 4. (B) 46.42 4. (C) 46.24 . (D) 46.32 4.

43. AL -1331 ,
What is the cube root of el

(A) -3 B) - ©= (D) - T

-1331
i @ 5
e QU R 6REQ 7

11 21 21 11
(A== W) =27 )= (£~
44.327<—274a = ?
(A) -52 (B) 42 (C)-32 (D) -24

V27 xY=2744 = 6969 6297

A) =52 (B) 42 (C) 32 (D) -24
45. 39778 X 15625 = ?
(A) -180 (B) -240 (C) -280 (D) -300

Y=1728 x 15625 = 6Q6% 6297
(A) -180 (B) 240 (C) -280 (D) -300

46. The population of a town is Rs.3, 00, 000. If the birth rate is 5% and the _dcth 3%, what will be the

population of that town after 2 years?
(A) 321120 (B) 311220 (C) 312120 (D) 322110

6615 ALQQ ERIFA°EYI 3, 00,000 | U@ IQLIQ 5% B IR 3% LRI, 6CER 2 Q¥ 060 697 AR

EMIR A°Yl 6REL 699 ?
(A)321120 (B) 311220 (C) 312120 (D) 322110
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4. .If the salary of ‘A’ is 25% higher than the salary of *B’, by what percent is the salary of ‘B’ less than the
salary of *A’?
(A) 15% (B) 25% (C) 10% (D) 20%

Q3 A @ @8l B 261IQ 25% 2@ 94, 6863 B @ 9671l A 9C1IQ S99 6266 @617
(A) 15% (B) 25% (C) 10% (D) 20%

48. The average of 6 members in family is 22 years. If the age of the youngest is 7 years, what was average
age of the members of the family at the time of birth of the youngest?
(A) 15 years (B) 16 years (C) 17 years (D) 18 years

Q09 6 2ESQ AAITIG 9 22 @ | 97 AS AR VERA YN 7 TG, 6669 ARREFT 87 AR AR
AT IR @A 6R6Q R ?
(A) 15 @8 (B) 16 @d (C) 179 (D) 18 @€
49. An examinee secures 30% marks and fails by 50 marks in an examination. Another examinee gets 320

marks and fails by 30 marks. What is the maximum marks of the examination?
(A) 700 (B) 800 (C) 900 (D) 1000

@66 9R18IEH 9@ ARIBIER 30% SR aF 50 9 AIN IR D41 2R V66 ARV 320 AR Y 30 AR

QIR 6TR, 91 6062 ANV ATRYR TR 6R66 ?
(A) 700 (B) 800 (C) 900 (D) 1000

50. What is the average of X, X+2, X+4, X+6 and X+8?
(A) x + 20 (B)x+4 (C)x +5 (D) x

X, X+2, x+4, x+6 6 x+8 @ LAULR 6R697
(A) x +20 (B) x +4 (C)x+5 (D) x

51. The difference of 90% and 83% of a number is 175. Then find out 99% of the number?
(A) 1426 (B) 1750 (C) 2475 (D) 2500

6ElITN HYIR 90% B 83% FRIGA 2ABA 175 | 6669 LHYITA 99% 6Q6S ?
(A) 1426 (B) 1750 (C) 2475 (D) 2500

52. Find out the difference between 17% of 120 and 8% of 108?
(A) 11.66 (B) 11.76 (C) 10.76 (D) 10.66

120 ©117% B 108 Q 8% FRIEA 2ASQTR 6R66?
(A) 11.66 (B) 11.76 (C) 10.76 (D) 10.66

53. How many hours is 20% of 40% of 4 hours and 20 minutes?
(A) 13/6 hours (B) 26/75 hours (C) 13 hours (D) None of these

4 Q91 20 F7Q R 40% Q 20% 6960 QAN? .
(A) 13/6 Q8 (B) 26/75 Q& (C) 13 @8l (D) 6Q163E ge2
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54. The rate of sugar having increased by 25%, Seema purchased 1kg less than before with Rs.100. What is

the present rate of sugar per kg?
(A) Rs.20 (B) Rs.20.50 (C)Rs.25 (D) Rs.30

——

3RQ 08 25% QLRI Q1A 100 SFI6Q YA '1' Qg @F| 57 Q8 1 QEAIR TR Al gE R 696E ?
(A) 620 (B) ©20.50 (C) 825 (D) €30

55. The average age of 25 boys is 15. If the average ages of first and the last 12 boys are 14.5 & 15.5

respectively, what the age of 13" boy?
(A) 10 (B) 12 (C) 15 (D) 16

25 @4 QIRAEQ LINULIA QA 15. A8 QA 12 241 8 644 12 QISQ VIQIAIR LA FAIGEE 14.5 8 15.5 99,

13 9@ AIR6R &R QIRRA IUA 669 ?
(A) 10 (B) 12 (©) 15 (D) 16

56. Nabaghana borrowed Rs.10, 000 from a bank at an interest rate of 10% and lent the same to 02 persons at
13% interest. How much profit he will earn after 5 years after repaying bank loan?
(A) Rs. 1200 (B) Rs.1500 (C) Rs. 2100 (D) Rs.2500

QAR 10% LINER QISR 10,000 CF1 QAL @8 13% LIREH QRSE 6RIFT FQR AR | 5 od 66T6Q 6Q2Q
o' MIT 8 AREHIR KR 6RE6C OF1 RN TN ?

(A) 1200 G. (B) 1500 @' (C) 2100 @. (D) 2500 @
57.What is the rate of interest if the principal amount becomes 3 times including the principal and interest in
2?,«9{)6?:)5",‘:0 (B) 12% (C) 8% (D) 10.5%
6F6Q RN 20 QE6R QI 6 FJR 8 GRURA 3 & 6IARAIN | PIN VAR ERES ?
(A) 10% (B) 12% (C) 8% (D) 10.5%
58. If certain principal is doubled in 20years, how many years will it take for that principal to multiply by 4
tl(rie)sZO years (B) 50 years (C) 60 years (D) 80 years

Q@ 6P RS 20 2T6R FIEP Y, 6969 660 AT6R AB FARUR 4 6l 629 ?
(A) 40 @F (B) 50 o (C) 60 _d (D) 80 Q¥

59. In how many years the interest on principal amount of Rs. 2,500 @ 3% interest will be equal to the interest
@ 7% for 5 years on principal amount of Rs.1, 5007

(A) 5 Years (B) 6 Years (C) 7 Years (D) 8 Years
6960 9d6Q 3% AGR 6K §2,500 FRUAR R, 61,500 FRINR 7% A0R EA 5 9Fa Qu ATe AR
62 ?

(A) 599 (B) 6 99 (C)7e9 (D) 8 @8
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60. Ajay borrowed some money from Rashmi at 5% simple interest per annum and was freed of debt repaying
Rs.8, 800 after 2 years. How much interest did he pay?
(A) Rs.800 (B) Rs.825 (C) Rs.850 (D) Rs.975

292 QTR 3% AR PIER 78 6F AFI0IR 268 26 T A6a 68,800 60R RSB 62N | 6669 QR
QIIQQ ALAQ 6REE OF1 6QIq AGRI?
(A) 9800 (B) 6825 (C) 9850 (D) €975

61. At what rate of simple interest per annum certain principal amount will be doubled in 8 years?
(A) 10% (B) 12.5% (C) 15% (D) 20%

QITR 6260 X AARYYUEH 616E FJRUR § T6R TGS 629 ?
(A) 10%  (B)125% (C) 15% (D) 20%

62. Rakesh lent Prakash Rs.8750 at simple interest of 7%. How much interest will he get in 3 years?
(A) Rs.1870 (B) Rs.1837.50 (C)Rs.560 (D) Rs.2200

QUL QAITR7% AR RIER YRIF 68,750 2R IR 16869 6 3 ATCR 6969 QI TIRS ?
(A) 1870 (B) 61837.50 (C) 6560 (D) 62200

63. What is the amount of principal and interest of Rs.860 in 2 years @?2paise per rupee per month?
(A) Rs.1227.80 (B) Rs.1722.80 (C)Rs.1272.80 (D) Rs.1722

o198 AI1aQ 2 aRAl 2AIRER 860 SRR 2 TR AR 6R6S ?
(A)©. 1227.80 (B) <. 1722.80 (C) <. 1272.80 (D) <. 1722

84.1f the difference between compound interest and simple interest on certain money at 5% per

annum in 2 years is Rs.5, what is amount of the principal?
(A) Rs. 2000 (B) Rs. 1000 (C)Rs. 1500 (D) Rs. 2500

QTR S6RG! 5% LIQ GUEA 2 QT6R 67T ARUGR AAR G 8 0GR G AU6R AT A& 6.5
24, FRIGA AQFIIE 6Q6EG 629 ?
(A) Rs. 2000 (B) Rs. 1000 (C)Rs. 1500 (D) Rs. 2500

65. The difference between simple interest and compound interest of certain amount at the interest rate of 10%

in 3 years is Rs.93. What is that amount?
(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000

9699 10 OF1 2106Q 3 TR 6TEIT ARG AR QU I 9GF QI AIEA AITRY 93 SF 1 69T AU

RIS 696G ?
(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000
i ~
66. What shall be the amount including compound interest, if Rs.1500 is invested at the interest rate of 7% in
2 years?
(A) Rs.1717.35 (B) Rs.1727.35 (C) Rs.1737.35 (D) Rs.1747.35

4009 7 9= QIRER 1500 OF1R 2 QE6Q AR 0FF QX 6766 6297
(A) Rs.1717.35 (B) Rs.1727.35 (C) Rs.1737.35 (D) Rs.1747.35
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ARITHMETIC
67.In how many years Rs 6250 will earn compound interest of Rs.510 if saved in a bank at the interest rate of =
4% per annum?
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
000! 4 O ARG 6250 TR ST QUIFER QYR 6960 FT6R GIQ BGLE QI 510 671 629 7
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
68. What will be the amount of compound interest if Rs.8000 is lent at simple interest rate of 5% for three
years?
(A) Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251

8000 G (RUGQ S0RR! 5 61 QX AANEA FAR 6Q6R 07 Qdaen 0g9f QI 6Q6% 6297
(A)Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251

69. A person borrowed Rs.5000 from a bank at a compound interest of 10% to purchase a water pump. What
amount of money will he repay the bank after 3 years to be free of the debt?
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

66T QI8 ¢t RERIY K64 AR 10 GTAS 0GR QI AARER TR 5000 O A6l ROIRER | 3 qdasa
6FIIG 6R6S OF 69R 62 TR A6 €D 6269 |
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

70. A shopkeeper sold 2 articles and earned a profit of 20% in one and suffered a loss of 20% in the other.
What was the percentage of his profit or loss in the business?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

@661 6QIRIT QAG FFA IFAA 68ITRER 20% RN CIAR B ANTER 20% ST ATA | 67T VAR 'R
SORG! 6REC RN 9 S LM ?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

71. As shopkeeper ecarns a profit of 10% after giving 10 percent discount on a book. What is cost of the book,
if its price is marked Rs.77/-?
(A) Rs.70 (B) Rs.77 (C) Rs.63 (D) Rs.60

64 T6ARIRT U QT QUER 10% QRIT 69IUER F1d 10% RN 203 | U@ @8 QA6 QI 77 O 6RSI
QRN SIF] 62ER TTA QACIRY 69667
(A) 70 o= (B) 77 o=t (C) 63 o= (D) 60 o=
72. The purchase price of a bicycle is Rs.2000/-. Its marked price is 50 percent more than the purchase price

and the rebate is 20%. Find out the sale price of the bicycle?
(A) Rs.2300 (B) Rs.2400 (C) Rs.2500 (D) Rs.2600

6AIT ARCRRR FATRY §.2000 | LR AYS IR FARY LAV 50% YR B AT 20% EV6M, ANECKMA
QGEIRY 62637
(A) 2300 G. (B) 2400 ©. (C) 2500 6. (D) 2600 ©.

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

VMWW LT LS M T GET A2 W

- ARITHMETIC

73.°A’ sold a cycle to ‘B’ @20% profit and ‘B’ sold the cycle to ‘C’ at 25% profit. If ‘C” purchased cycle at
Rs.1500, what is the sale price of the cycle?

(A) 1200 | (B) 1100 (C) 1000 (D) None of these

A, B @ 49 AQEIN 20 % RUINEA B B, C § 25% RAN6Q FGR6R 1 9F C ARG 6.1500 60 F&ard, 6669
AIREIN TGCIRY 6R6ES ?
(A) 1200 (B) 1100 (C) 1000 (D) 6216135 g6&

74.1f 5% of the sale price of a table is equal to 6% of its purchase price and 8% of its sale price and 9% of its
purchase price makes a total of Rs.93 what is its purchase price?
(A) Rs.600 (B) Rs.400 (C) Rs.500 (D) Rs.700

AR 691N 659RA FFFNYR 5% B FACINIR 6% AR AAIR I&° GI'A TFFARIA 8% B QUINIR 9% Q ANF
.93 €4, 699RTA QUMY 6Q6S 62 ?
(A) €.600 (B) 6.400 (C)8.500 (D) .700
75. A, B, & C started a business investing Rs.14000. If the amount of profit earned after one year by AB & C

is Rs.337.50, Rs.1125 & Rs.637.50 respectively, what amount was invested by A?
(A) 2250 (B) 7500 (C) 4200 (D) None of these

A, B @ C 6916 6.14000 609 9@ QIS 2GR Q67 | 98 96 A, B 8 C ARSI RIDK IRF1I€ QRIIF6S]
.337.50, €.1125, 6.637.50 626R, A @ FF6RUS! 2le] 676G ?
(A) 2250 (B) 7500 (C) 4200 (D) 6Q163E g6%

76. Mohan suffered a loss of 10% by selling his wristwatch at Rs.1440. At what price he should have sold the
watch to get a profit of 10%?
(A) Rs.1, 650 (B) Rs.1, 700 (C) Rs.1, 760 (D) Rs.1, 820

6FIDR OI'Q YCTTY ©1,440 68 7R 10% BE AT 1 666 64 ANTF 6066 SFI6Q 3G FAYER 10%
e diealis! ?
(A) €1, 650 (B) €1, 700 (C)@1, 760 (D) €1, 820
77. A shopkeeper purchased 50 pens at Rs.50 each. He sold 40 pens at a loss of 5%. At what percentage of

profit must he sell the balance pens to get 10% profit on the whole?
(A) 15% (B) 40% (C) 50% (D) 70%

Q66 IRC QIR ARE GF 50 TAIRER 50 T FRA AERI |1 6AYARIQ 40 § FRAQ 5% FTER IGAM 1 656@
2088 GR¢ 9O 64 Q60 0PI RINER FFRER BI'A 6FlIC AUER 10% NIN 6297
(A) 15% (B) 40% (C) 50% (D) 70%
~ 78Hari bought 1600 eggs @Rs.3.75 per dozen. He sold 900 eggs @2 eggs per rupee and the rest at the rate of
5 eggs per Rs.2/- . What was his percentage of profit?
(A) 40% (B) 42% (C) 45% (D) 46%

20 289 98 §3.75 90168 1600 § 241 FARI | 628 AR 900 & 2AIQ 1 CFI6R 26 6 28} 2 2 SF6RQ

5§ 90 SGQ6R | 696R 6Q 6REL JONCI RN AINER ?
(A) 40% (B) 42% (C) 45% (D) 46%

‘
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79. A dishonest businessman sells his goods and gains 20% profit on both the cost price and sale price using
wrong measurement. What is the total percentage of his profit?
(A) 50% (B) 40% (C) 44% (D) None of these above

Q661 2ARY QU PR BR LR 7 VNG FAFRY 6 TGO FRY AACA 20% 6RHI AN A6 1 6969 BI'A

6156 S0RS! 6960 QIR g4 7
(A) 50% (B) 40% (C) 44% (D) QeI 6AGTT Q6L

80. If the proportion of the sides of 2 cubes is 3:4, what is proportion of their volume?
(A)3:4 (B) 4:3 (C) 64: 27 (D) 27: 64

Qaf APeA QIg AIRER 2QAIT 3: 4 6261, CAAIRRA AVGAR AGAIT 66T 629 2
(A)3: 4 (B) 4:3 (C) 64: 27 (D) 27: 64

81.350 students read in a school. The ratio of the boy and the girls is 4:3. How many girls have to leave the

school to make their proportion 2:1?
(A) 20 (B) 30 (C) 40 (D) 50

6015 FMIRAER 350 @4 AR AI0 OLE | CAAIRE FRIQ Y2 6 TS AQAIG 4:3 | TMIRAQ 6R6S € VI
Q@ SRR, 69T 2AQAS 2:1 629 ?
(A) 20 (B) 30 (C) 40 (D) 50

82.1f A: B=3:4 and B:C = 8:9, what is A:B:C?
(A)8:6:9 (B) 6:8:9 (C)9: 8:6 (D) 3:32: 9

QG A: B=3:48B: C=8:994,606@ A: B: C 6060?
(A)8:6:9 (B) 6:8:9 (C)9:8:6 (D) 3:32: 9
83. The proportion of copper, lead and nickel in an alloy of 100kg is 5:3:2. How much nickel would be added

to the alloy to make their proportion of the new alloy 5:3:37
(A) 8 kg. (B) 10 kg. (C) 12 kg. (D) 15kg.

100 69.6. @ 99 IRI6a QI oF)l, A1C IQ° F6RNa AFAI 5 : 3 : 2 86T | 9B INACA 6R6E AN
Feem GaIReR Q2 IRAR 29AIS 5 : 3 :3 699 7
(A) 8 628. (B) 10 69.G. (C) 1262.4. (D) 15 62.G.
84.Rs.832 was distributed between Ram & Govind. If the proportion of the money given to them is 1/3:1/5,

how much money did Ram get?
(A) 312 (B) 520 (C) 500 (D) 332

QU1 B 60T FRIER 832 SFIF 1T TR | 6ACNEE ARSI TFIQ AFAIG 1/3 : 1/5 626R, QU1 626S O
QAISR?
(A) 312 (B) 520 (C) 500 (D) 332
85.350 boys read in a school. The ratio of the boys and girls is 4:3. After some girls left the school their ratio

turned to 2:1. How many girls left the school?
(A) 20 (B) 30 (C) 40 (D) 50

661G FMIRAER 350 96 AR A0 9LT | 6QARIRE FRIQ G2 B JAF AGAIS 4 : 31 TNIRAQ 6260 96 T2

QT FIRTAIQ g2 B T2 AGAIS 2 : | 2RI | 6O6R 6Q6L 6l T2 TYIFA AAGHIT FER?
(A) 20 (B) 30 (C) 40 (D) 50
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86. The proportion of 2 numbers is 10:1 and their sum is 1188. What is the number?
(A) 18 (B) 108 (C) 81 (D) 28

QG A°HYIR AQAIS 10: 1 G 6ACIFER SAFTR 1188 626R, AGNIT 6R6© ?
(A) 18 (B) 108 (C) 81 (D) 28

87. There are 200 boys and girls and 10 teachers in a school. If the proportion of boys and girls is 7:3 what is
the ratio of boys, girls and teachers?
(A)7:3:1 (B)7:3:2 (C)6:14: 1 (D) 14: 6:1

1@ BQURAER 200 K€ BIGRIGT 6 10 96 T8 28T | BIQ 8 [IQ1 AGAIG 7: 3 626, 818, 2IG1 6 Faew
AQAIC 6R6Q 699 ?
(A)7:3:1 (B)7:3:2 (C) 6: 14:°1 (D) 14: 6:1

88. The ratio of two numbers are 3:5. If, 10 is added in each number, the new ratio becomes 5:7. Then find out

the smaller number?
(A)9 (B) 12 (©) 15 (D) 25

V5 AR AQAIS 3: 51 UG 6 A°HHIER 106G KAILIN, QOF U AR AGAIFT 5: 79U 6969

AR CHYIT 6R6¢ ?
(A) 9 (B) 12 (©) 15 (D) 25

89. At what ratio a shopkeeper shall add two types of rice, one @ Rs. 15 and the other @ Rs. 20 per kg to get
Rs. 16.50 per kg?
(A)3:7 B)s5:7 {C)7:3 (D)7:5

629 AGAIGER 69T 6QIRIR FERIGIA GF 15 Tl 6 20 SFIQ 90l JRIQ FIAR ASIRER, FERI YT 16.50 G|
diR AR ?
(A) 3.7 (B)5:. 7 (C)7:3 D75
90. The length of a rectangle is increased by 20% and the width is decreased by 20%. The area decreases by-

(A) 8% (B) 0.8% (©)12% (D) 4%

621G 2IVNE/LA 650Y F0RB! 20% QRITRI ¥e° g9 9931 20 AR | 6562 IR CIGTR 6X66 AR
7
(A) 8% (B) 0.8% (©) 12% (D) 4%

91. The ratio between the length and breadth of a rectangular field is 5:4. If the breadth is 20m less than the
length, the perimeter of the field is:
(A) 260 m (B) 280 m (C) 360 m (D) None

6GlITN DS 6IGR 684l B g9R AU 5:4 | A7 YR g8 6TAY0IQ 20 FcR K¢ 6NN , 6969 AL

6R0Q ARA1RN 6R60 ?
(A) 260 m (B) 280 m (C) 360 m (D) None
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92. The material of a cone was converted in to the shape of a cylinder of equal radius. If the height of the
cylinder is 6 cm, the height of the cone was-
(A)2 cm (B) 6 cm (C) 18 cm (D) 36 cm

6EITN 6QIR § CARIR ACR QYIS GE 661N ARaNsa OREE [aIaRl | AT IR 29I 6 62. 8. 29,

E06Q 6al Q APC 6R6C 69 ?
(A) 2 cm (B) 6 cm (C) 18 cm (D) 36 cm

93. The radius of é cylinder is the same as that of a sphere. Their volumes are equal. The height of the cylinder

is how many times its radius?
(A) 4/3 (B) 2/3 O1 (D)2

60 GRaa QUIAIS 661G CTINGR SUIAIS e AR | AN 2INeR QAR 2166 1 6669 IRER AL
QIR QUG 6260 &l ?
(A) 4/3 (B) 2/3 ©)1 (D) 2

94. If the height of a cone is doubled, then its volume is increased by:
(A) 100% (B) 200% (€) 300% (D) 400%

A3 64T 6] Q ALGIP GR FE FRIAIN, 6067 IR 2IVVR 6R6C FARS ?
(A) 100% (B) 200% (C)300% (D) 400%

95.1f the ratio of volumes of two sphere is 1:8, the ratio of their surface area is-
(A) 1:2 (B) 1:14 (C) 1:8 (D) 1:16

A9 Qa0 60INPR YRTRR 2B 1:8 P9, 6969 GI'Q AAGVITR CFGTRA AQUIS 6R6E ?
(A) 1:2 (B) 1:4 (C) 1:8 (D) 1:16

96. If the surface areas of two spheres are in the ratio of 4:25, the ratio of their volume is-
(A) 4:25 (B) 25:4 (©) 125:8 (D) 8:125

9@ 2 § 60IRAA JUORR AGUIS 4:25 94, 6669 (AT ARTRR AGAIS 6Q6S ?
(A) 4:25 (B) 25:4 (C) 125:8 (D) 8:125

97. A cube of side 6 cm is cut in to a number of cubes, each of side 2 cm. The number of cubes will be:
(A) 6 (B) 9 (©) 12 (D) 27

6 62 ¢. Qg AL U@ ANARY T 6266 gEd 2 6Q. §. QIg TIY AIARER ARSI QAR | 696S 9T

QLR JERR Yl 6260 6297
(A)6 (B)9 (©€) 12 (D) 27

98. Three cubes of iron whose edges are 6 cm, 8cm, and 10cm respectively are melted and formed into a
single cube. The edge of the new cube formed is:
(A) 12 cm (B) 14 cm (C) 16 cm (D) 18 cm

6 6.4, 8 624, B 10 6Q. §. AFITY T6RIT ML HTG ANURY CARIN U@ OF ANVIEH UGG F6R,
21 QIGR 654 660 629 ?
(A) 12 cm (B) 14 cm (C) 16 cm (D) 18 cm
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ARITHMETIC
99. A metal sphere of 5 cm radius is melted to make a cone with base of the same radius. What is the height of
the cone?
(A) 10 cm (B) 15 cm (C)20 cm (D)5cm

5 628 QUAIGY 35 6615\ AR 6AINRY FARIN AAMIAS T IR 6RIR 6Q ATES FAUTR | 632 69IQ
Q AP 6Q6S ?
(A) 10 cm (B) 15¢cm (C) 20 cm (D) 5 cm

100. Two taps ‘A’ and ‘B’ can fill a cistern in 28 minutes and 56 minutes respectively. A third tap ‘C’ can
empty it in 42 minutes. If all the three taps are open, the time taken to fill the cistern will be:
(A) 32 minutes (B) 33.6 minutes (C) 33.8 minutes (D) 34 minutes

9aE AIfiee A ¥e° B 60I5N Qg QRIger 28 AR] 6 56 fifcea g4 @RAIRE | gela AIdiee 42 Abcea
QI2IQ Slim QAAICA | AG AN AIFTERY IR AAAER CHRGAAN, 6962 §aT QP62 626 NG AT ?
(A) 32 minutes (B) 33.6 minutes (C) 33.8 minutes (D) 34 minutes
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